Name: ______________________

Date ___________

Density Calculations

Grams = g

Cubic Centimeter = cm3, cc, or ml

Density = (in g/cc)

Mass = m (in g)

Volume = v (in cm3)

= m / v or m ÷ v

m =  X v

v = m /  or m ÷ 
Try some calculations yourself to try out the above formulas:

1. A piece of basalt weighs 57g and has density of 2.7 g/cm3. What is its volume in cm3?

__________      _________   =   __________

2. A piece of granite has a volume of 82ml and has a density of 2.3 g/cm3. What is its mass in grams?

__________      _________   =   __________

3. A piece of peridotite weighs 55g and has a volume of 19.64ml. What is its density in g/cm3?

__________      _________   =   __________

4. My gold crown has a volume of 180cc and the density of gold is 19.3 g/cm3. How much did my crown weight in grams?

__________      _________   =   __________

5. Now a similar piece of platinum also has a volume of 180cc and it weighs 3,861g. So what’s its density g/cm3?

__________      _________   =   __________

6. We have two blocks of wood. One block, the birch wood, weighs 355g and has a density of .71 g/cm3. The other block, the cherry wood, weighs 215g and has a density of .43 g/cm3. Which is the bigger block of wood (show your work)?

Cherry __________      _________   =   __________
Birch   __________      _________   =   __________

7. If air has a density of .0013 g/cm3, how much space would 845g of air take up in cm3?

__________      _________   =   __________

8. Ice floats in water because it has a density of .93 g/cm3. If you have 400 cm3 of ice, how much will it weigh?

__________      _________   =   __________

9. Now let’s see about water. Water has a density of 1.0 g/cm3. If you have the same volume of water as ice in #9, how much will it weigh?

__________      _________   =   __________
